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FED 170 8 18 2 - - 30 5 15| 5| 2| 80 5
BYRER 140 20 10 2 - - 15 5] 16| 8| 2| 55 7
EYERREET 125 20 4 2 - - 10 3 12| 7] 2| 58] 7
e 123 10 10 2 - - 20 3] 12| 7] 2| 50| 7
EEEn 150 5 2 2 - - 12 0] 15| 5] 3| oI 5
WENEH 150 8 2 5 - - 12 8 13 - 3| o4 5
BRRSRETT 150 7 2 2 - - 18 8 15 5| 3| 85 5
REREH 120 10 2 2 - = 12 6] 10| 5| 2| 66 5
I AAYAToRER | 150 5 2 2 - = 12 10 17, 5 2 90 5
ATERILEN 130 3 2 2 - - 8 & & 10, 8 10 2 80 5
SFREDER 130 7 2 2 - - 15| % £ 5 9 7 3| 75 5
BRRARTR 130 5 3 2 - - 25 E % 4 8 10 2 65 6
EERETEN 130 5 3 2 - - 25 £ F 4 8 10 2 65 6
EERE 130 5 2 2 - - 25 & | % 4] 8| 10| 2| 66| 6
HEBIRRER 100 3 2 2 - - 16 4 8 6] 2| 52 5
EREEREEE 150 15 5 2 - - 15 3 14 8 2 19 7
BNEEEAEH 190 34 6 2 - - 15 4 22| 5| 2| 90 10
FHEYZRER 150 10 5 2 - = 15 4 18 10 2 76 8
ERRENEN 110 10 6 2 - - 15 3 10 4 2 53 5
EAEREN 91 20 3 1 3 3 5 2] 8| 4| 2| 35 5
BEKEE 91 20 2 1 3 3 5 2| 8| 4| 2| 35 6
BEMLEN 91 20 3 1 3 3 5 2 8 4 2| 35 5
EARREEEH 90 20 3 1 3 3 5 28] 3| 2| 35 5
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